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Green Answers

1a. Smallest = 2,498; largest = 9,428

2a. Hans is correct as the Base 10 shows 4
thousands, 1 hundred, 9 tens and 7 ones
which makes 4,197.

3a. A matches the Base 10 as there are 2
thousands, 5 hundreds, 9 tens and 4 ones
which make 2,594.
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1b. Smallest = 3,415; largest = 5,413

2b. Kim is comrect as the Base 10 shows 8
thousands, 2 hundreds, 7 tens and 1 one
which makes 8,271.

3b. C matches the Base 10 as there are 8
thousands, 1 hundred, 2 tens and 9 ones
which makes 8,129.

Yellow Answers

4a. Smallest = 1,038; largest = 8,013

5a. Fatima is comrect as the counters show
4 thousands, 3 tens and ¢ ones which
makes 4,039.

éa. C matches the counters as there are 4
thousands, 3 hundreds and 8 ones which
makes 4,308.
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4b. Smallest = 1,071; largest = 7,101

5b. Tim is comrect as the counters show é
thousands, 1 hundred and 2 tens which
makes 6,120.

éb. B matches the counters as there are 7
thousands, 5 hundreds and 1 ten which
makes 7,510.

Red Answers

7a. Various answers, for example - 1,490,
1,049, 9,401, 4,109

8a. Jake is correct as the counters show 8
thousands, 4 hundreds and 3 ones which
makes 8,403.

9a. A matches the counters as there are 9
thousands, 4 tens and 7 ones which
makes 9,047.

7b. Various answers, for example - 3,259,
9,325, 2,593, 5,932

8b. Amy is correct as the counters show 2
thousands, 12 hundreds, 1 ten and 2 ones
which makes 3,212.

9b. B matches the counters as there are 2
thousands, 13 hundreds, 2 tens and 9 ones
which makes 3,329.



